Date Period

Name

571_MORE_Equations for ﬁriﬁhmetﬁc Sequences d

You re staymg at a hotel dDWntown. lt costs $8 For a parkmg pass plusqu each mg!at E;qu stay. ;

1 Complete a table for this situation:

HotelCost | FY 1€ | 2% | BWE
NSZ T+
2. Write an explicit equation for this sequence:
Ep = 9% + a4on 1)

4, How much will it cost if you stay at the hotel for four
ﬂights? =

$ 3K

@ = Gon + B

3. Write a Lcurswe egjﬁﬁﬂ}for this sequence: 5. How much will it cost of you stay two weeks? L
o = 9% ooy =00 ¥

L = An—| e Cir) | - . ')9 (V24

(You have ;]ohiowra_xkr;\g leaves. You earn $12. 50 in t:ps pft;s_;:@g'b-faéf hour of work. J]
— J

6. Complete a table for this situation:

Hours 1 pa ™ 3 (5 | s b 1 g Q
Total Pay l q 425 .91 3

7. Write ajrecursive equation for this sequence: 10. How much will you earn after working 30 hours7

Gw::\(/j J{, Qgp = b SLE 30)+ (3. SO
a . = a + .50 $ 2o1. 50

B ek 13, How long would you have to work in order to earn
8. Write an explicit equation for this sequence: @%{)5 S TLUAN

rpn = 19+ L. SOCN=1) "
T 19 +L.Stn L. 5P

—

365 =o.5tnN+ (3.5

apn= 0.5ON+13.5D J93.5D = Le-Sbin
[Fhes = 0 [
Given the first term and the common difference, list the first fi Ve terms of lh‘*e“*e’gﬂéhae Then write the

explicit equation for the sequerce.
12. f(1)=5d=32 13.f()y=-1,d=-7

14, f(1) = —6, 0= 6 ' 15, f(1) = 3, d=~ 105

oo | | 1o |3 ]¢ [5 [l [ ¥ 19 :

32




Unit 3 - Linear & Exponential

Coord. Algebra

3.8 - Practice

| b4 C{\‘r\ =& +d (n \>

Date:

lLon=-5d= 46_;9}

= -5+ (N
- S 4N - i
Ln~ 4

e =R =T = {‘»);0

2. =13, d=-5/2,n=29

3.ar=3,d=-4,n=6

4 a=-5d=1/2,n=10

thterm of-3, 1, 5, ¢

Caomplele each stolement:
%f 97 is the

~107s the thterm of 14, 12.5, 11,

?.5

X

o = len -9 -
M5= L0s) =T = (31)

i the indicaled term(s) in each arithmetic sequence:

8. awforl7, 12,7, ...

9. \fhe first term is -7jand the, common
dlfferame |s 3, Find the nexT 3 fermes.

10. The first term is 6 and the common
difference is -4, Find the nexi 3 terms.

11, The first ferm is 9 and fhe common

fhe]OO*h’rerm q 1 -3
S

.d.-q ‘“"r\- q-%ln=1)

Aps A ~-Yn +y
Epe= > Yy + |3

12. The first term is -6 and the common
difference is 5. Find the next 3 terms &

the 100t term.

qj,oo 2 = Hljoey +13
- 387
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